=
o
(6]

do/dAn [mb]
2,

B
OIO
S8

N

Ratio to Herwig++ 2.5.0 default
[N

7000 GeV pp Soft QCD
E'— I I I | I I I | T T é_
= (p, > 0.2 GeV, [j| <5.2) =
EE --0O-- Herwig++ 2.5.0 default EE
= . Er_Ll{—lerW|g 7.2.1 default =
— "B =
E M. —
= S =

-
E B —=
— 1 & =
1H-
= @ =
= H-g =
= g S
:g ‘ E:
— ®- =
E {9\@"@‘@ —=
= *@\@ =
Eg @ ®-@ B- g EE
Eg e ®-o & -@ EE
= . =
= ®., =
— 0-0 =
= =
= o
= -
= =
e B NS ==
| | | |
0 2 4

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


